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Water Quality: TDS 
1.
The student pages with complete instructions for data collection using the NXT can be found on the CD that accompanies this book. See Appendix A for more information.
2.
There is a nearly linear relationship between conductivity and total dissolved solid concentration (of dissolved ionic substances). A curve similar to the one shown here can be obtained using standard TDS solutions. In the figure shown here, the ratio of TDS concentration in mg/L to conductivity in µS/cm is 0.5 to 1, and represents the approximate relationship between TDS concentration as sodium chloride and conductivity.
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3.
We suggest that you set up the Conductivity Probes before the experiment. Set the selection switch on the amplifier box of the probe to the 0–2000 µS/cm range.  

4.
This test can be conducted on site or in the lab. A 100 mL water sample is required. It is important to obtain the water sample from below the surface of the water.

5.
If the testing cannot be conducted within a few hours, store samples in an ice chest or refrigerator.

6.
Be sure to demonstrate the Conductivity Probe rinsing technique as you pre-lab the experiment.

7.
Your Vernier Conductivity Probe is automatically temperature compensated between temperatures of 5 and 35°C. Readings are automatically referenced to a conductivity value at 25°C. The Conductivity Probe will, therefore, give the same conductivity reading in a solution that is at 15°C as it would if the same solution were warmed to 25°C. If the probe was not temperature compensated, you would notice a change in the conductivity reading as temperature changed, even though the actual ion concentration did not change.

SAMPLE RESULTS
	Source of Water
	Conductivity (S/cm)
	TDS (mg/L)

	Distilled
	1
	0.5

	Tap
	500
	250

	Bottled
	2
	1

	Aquarium
	250
	125

	Pond
	400
	200


ANSWERS TO QUESTIONS

1.
See data table. Use the conversion factor 2000 S/cm = 1000 mg/L. In other words, halve the conductivity values to get the TDS values.
2.
Answers will vary.
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